oo0oooooo Q@o0000o

goao

oooo ooogoo

No. 8: DO UODDO

0000 (OO0 o0oDbOoO0O0) oooooooo / 0000 (oooOoO ooooo) 0ooooooo No.8: OOOODO

ooooobogd OO0O000 micro-C

00 (O expression):
type expr =
Imperative Programming Language | CstI of int

» JO000O0=0000=000000 | Var of string

| Prim of string * expr * expr
» f. 0000000000000 0O0O(DO0O0DOOOUOOOD

oooooon) 00 (O statement):
type stmt =

Asgn of string * expr

If of expr *x stmt * stmt

Block of stmt list

For of string * expr * expr * stmt
While of expr * stmt

Print of expr

gopoogpoogg: |

» C, C++, Java, Perl, Python, Ruby, ... |
|
|
|
|

0000 (DO0DO0 o0Oo00) OopDoooooo No. 8: 0O0OODO / 0000 (0000 oOoooo) oooooooo No. 8: 0O0OODO



micro-C O COOO micro-C O O OO O

{ int sum, x;

sum = 0;
while (x > 0) {
coo micro-CO O (D O0O) sum = sum + X;
X =y + 3 Asgn("x" ,Prim("+",Var("y"),CstI(3))) x=x-1; %}
if el sl else s2 If(el,sl,s2) printf ("%d", sum); }
{s1 s2 s3} Block([s1;s2;s3]) Block([
for (i=el;i<e2;i++) sl | For(el,e2,s1) Asgn ("sum",CstI 0);
wvhile (el) si While(el,s1) While (Prim(">",Var "x",CstI 0),
printf ("%d",el); Print(el) Block([

Asgn("sum",Prim("+",Var "sum",Var "x"));
Asgn("x",Prim("-",Var "x",CstI 1));
1)),

Print(Var "sum"); 1)

O000o00oo(@oooooooon)

0000 (OO0 o0oDbOoO0O0) pooooooog / oooo (ﬂﬂﬂﬂ HTFH'H—\) gooooooo No. 8: OODOODO
OO0000000;000 micro-C O O O

O0o00o0 |Ooobooo OO0O0O0OOmicro-MLOOOOOOOO
O o) o)

let rec eval e store =
[ g © match e with

afufalulufalaln | Cstl i =1
| Var x — getSto store x

»00: 0000000 (0000000D00)000000000 | Prim(ope, o1, ©2) —
oo let i1l = eval el store in

ooooooon let i2 = eval e2 store in
» 00: 00000000000 (location) 0000000000000 bel?l::chopewith

» 000 (store): 0000000000000 D00000O0 Mmoo i1 42

O0O0Omicro-COO0ODOO0O0OODOOOOODO(OODOOO)O

0000 (DO0DO0 o0Oo00) OopDoooooo No. 8: 0O0OODO 7/29 (00Do0 0oDO0) oooooooo No. 8: 0OOODO 8/29




micro-CO O O Ogogogogdg

OO00000 exec:

let rec exec stmt store =

gooo:
» 000 (exec) D0ODO0OODDOOOODOOOOOOOO
» JOO0b0O0obOobogo:00booboooooooon

O: 0 Asgn("x", Prim("+",Var"x",CstI 5)) 0001
» 0O000000: [x->10,y->20]
» 0000000 [x->15,y->20]

0000 (OO0 o0oDbOoO0O0) oooooooo

micro-CO OO

000 (Assignment statement, JO0000)000:

let rec exec stmt store =
match stmt with
| Asgn(x, e) —
setSto store (x, eval e store)

Oel (DDODDODOOODO)execOOOevalDOOOODO
O: Asgn("x", Prim("+",Var("x"),CstI(5))) 000

» 0000000 [x->10,y->20]

» JO0OO00O0O0: [x->15,y->20]

OopDoooooo

No. 8: 0O0OODO

U0 0D==0000000000:
» emptystore ... DO OO0 (DODO)
» getSto s x... U000 sO000OOxOOODOOOODOO
» setSto s (x,v) UO00OsO0O0O0O xOOOOOODO vOODO

let s = emptystore ;; []
getSto s x ;; []

==> error

setSto s (x,10) ;; [x—10) ]

==> ()

setSto s (y,20) ;; [x—=10; y—20]
==> ()

getSto s x ;; [x—=10; y—20]
==> 10

setSto s (x, (getSto s x) + 30) ;;

==> () [x—40; y—20]

0000 (oooOoO ooooo) No. 8: 0ODODOO

micro-CO O 0O

0ooooooon

obooboboo:

let rec exec stmt store =
match stmt with

| Block stmts —
let rec loop ss sto =
match ss with
| [] — sto
| sl::sr — loop sr (exec sl sto)
in loop stmts store

0: Block([s1; s2]) (Osl,s200000000)

loop [s1l; s2] storel
-> loop [s2] (exec sl storel)
-> loop [] (exec s2 store2)

oooooooo No. 8: 00D0ODODO

0000 (DO0DO0 o0Oo00)

0000 (0000 oOoooo)

12 /29




micro-C O O O goooobod

ForOO WhileOOOOOOOOOOOOOODOOOOOO (OCaml)O
0000000000000 (micro-C)0 For00O0OO0OOOO

| For(x, estart, estop, stmt) —
let start = eval estart store in
let stop = eval estop store in

let rec loop i sto =

if i > stop then sto

else loop (i+l) (exec stmt
in loop start store

(setSto sto (x, 1i)))

0000 (OO0 o0oDbOoO0O0) oooooooo No. 8: DODOODO 13 /29

HEN

@ coooo

0000 (DO0OO0 o0Oo00) OopDoooooo No. 8: 0O0OODO

obobooboboog:

» JO0D00D0O0D0O0D0O0=000000000000DOO

» U0: 000b0O0bOobOoboobooobooon

» D000 000bbogogoo

» 0000: 00 (00D0)0o00oOoO0OoooOooo
0000000000000 0000ooO0o0ooo(Dooooooo

0000000000000000000000000000000
ooo)

0000 (oooOoO ooooo)

coobooon

0ooooooon No. 8: 0ODODOO

void foo (int *p, int *q) {
while (*p) {
x(gq++) = x(p++);
}

» 000000000 D*XOOUOO ProOO
» 00 fooOOOO (Ptr(int) * Ptr(int)) -> void

15 / 29
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cOobonooon

int x integer

int *x pointer to an integer

int x[10] array of 10 integers

int x[10] [3] | array of 10 arrays of 3 integers
int *x[10] array of 10 pointers to integers
int *(x[10]) | array of 10 poitners to integers
int (*x)[10] | pointer to an array of integers
int **x pointer to a pointer to an integer

cibooboobooobobooboboobobooobooobooDboOoDbo
O0000000o0o0o0oo0o(ooooooooooon)

cobooog

ciooooooooOooooooooOooooooooOoOooooon
000000000 (DooOoO0oo0o0)oooooo

0000 (OO0 oDboOoO0) oooooooo No. 8: 0OOODO 17 / 29

cooodgd

oo oooooobbbon

int x, y; int a[100]; int *p;
x =x + 10;

x + 10 = x;

a[5] = x + 10;

x = al[b] + 10;

xt+ =y + 10;

p =&y + 1;

p = &(al5]) + 1;

*pt+ =y + 10;

OopDoooooo No. 8: 0O0OODO

0d

©@oooooooo

0000 (oooOoO ooooo) 0ooooooo

Ivalue O rvalue

Ivalue (left hand side value, 0 0O 0O)

» 0000000 (location) 0000
rvalue (right hand side value, 0 O O)

» 0O0O0O0

» x [0 0lvalue O rvalue 0O OO

» al10] O Olvalue O rvalue OO OO

» xx [ 0 lvalue O rvalue 0O OO

» 8+20 0rvalue 100 000 OOIvalued OO OO0
» gxO0Orvalue 0O0OOOIvalue DOOODOO

oooooooo

No. 8: 0ODODOO

No. 8: 00D0ODODO
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0000 (0000 oOoooo)

20 / 29




cooogd

oooooooooo
int x, y; int a[100]; int *p;

x = x + 10; OK
x + 10 = x; Not good
alb5] = x + 10; 0K
x = a[b] + 10; 0K
x++ =y + 10; Not good
p=4&y +1; 0K
p = &(al5]) + 1; 0K
*pt+ =y + 10; 0K

xpt+0 *(p++) DO O0ODODO0OOO

0000 (OO0 oDboOoO0) oooooooo

ooooobogooooo

0d

Qoooooo

0000 (oooOoO ooooo) 0ooooooo

godooobbgooodaoon

No. 8: 0ODODOO

0odoOoooooooooooooa
» 000 call by value
» 0000 call by name
» 0000 call by need
0o00oOOoooooooooooboooa
» 000 call by value
» 0000 call by reference

> ... call by value return

000 (C, Java):

static void swapV (int x, int y) {
int tmp = x; X =y; y = tmp;
}
main O {
int u = 10;
int v = 20;
swapV(u, v);
printf("%d %d\n", u, v); ==> 10 20
}

» 0000 rvalue (100 20) 0000
» 000 x,ydoooaoooo
»swapV OO0 O0000OuwDvOOODOOODOOO

No. 8: 00D0ODODO

0000 (DO0OO0 o0Oo00) OopDoooooo

0000 (0000 oOoooo) oooooooo



ooooobooooooon goooobbgooodaoon

Note. OOODOOO0O0OswapROOOO0O0DODOOOCOOOOODODOD
000000000oo0oUo(@OoOp11900)

0000 (CH):
static void swapR (ref int x, ref int y) {

int tmp = x; x = y; y = tmp;
b

swapR(ref u, ref v);

v

000 O Ivalue (D0D0)0DODO
» 000 x,yOQOooooooo
swapV DO 0OO0OuOvOODOOOOOO

v

0000 (OO0 o0oDbOoO0O0) oooooooo

oodooobooogooon

No. 8: DODOODO 25 /29

coooooooooooooo

static void swapR (int *x, int *y) {

int tmp = *X; *x = *y; *y = tmp;

}

main () {
int u = 10;
int v = 20;

swapR (&u, &v);
printf ("%d %d\n", u, v); ==> 20 10
}

cijodoooooooopopoooOooooDooooOooooDoOoO
0000000 MLOOOO ref0000D0OO0OOCOOOO)

0ooooooo

goooobbgoooooboooad

0000 (oooOoO ooooo) No. 8: 0ODODOO

Call by value return (FORTRAN, Ada):
» 000 O rvalue 0000 0O0OODOODODODODO IvalueOOOO

» 00D00000000D00CDO valkeOOOOOODOOOOOO
lvalue DO OOOOOODO

» JO0000O0OswapROODOOODOODODO

0000 (DO0DO0 o0Oo00) OopDoooooo

No. 8: 0O0OODO 27 /29

O00ooooooooooooooog
» 000 call by value
» 0000 call by reference

» ... call by value return

PASCAL | C | C++ | C# | Ada | Java | Fortran
call by value o o o o
call by reference o a o o o O O
call by value return O O O O O O o
(Sestoft 0D OO OOODO)

0000 (0000 oOoooo) oooooooo
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goooooogo

» JOO0O0O0bOOooOo0oooboboboboobooboooooooon
oobo0o1l1ob00booboo

gooog

» JO0O0O0obOobooobooboboboboboboooooan
000000000000o00oo0 (oooo)oUuooooo
O00o00o0o0oooooooooo(Qwoooo)o

» O00OswapR OO OOODOMMODOOODOOODODOOODDOO
gbobogoboobooobooboobobobobobooooooon
ooocCcO00D0(booDoO0ODU0DUO0ODD)00OO swapRODDO
gbobobobobobobobomoooooooooooon
gboobogoobooboobooobooboobobobobobooboon
gbgobogobooboobooooooooboboboboboooboon
gooo
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